White

7., % ° Prove that angle x is equal to angle y.

H

Give reasons for each step of your workings.

® Q base 0NgUd ”n an  isoScelsy
tiangle  are equal.
0 ABC is an isosceles triangle. B ‘ ® 3=3L becowne verkc I! Wy
a) Write an expression for the
oug\no e equal.,

size of angle ACB. X
b) Show that angle ABC = 180 - 2x ’

Give reasons to support your answer.

X+x = Ax &

A C

LABC= |80 -2% becaune angud W a b-(ma\,q. Sum

o 0 Line segments AB and CD are parallel.
to (80D .
EF is a transversal that cuts through the line segments at points X

and Y respectively.

Angle AXF =t
a) Draw a diagram to show this.
4 )
E
0 DEF is an isosceles triang| £ >/
is an isosceles triangle. A >-8
Show that ZEDF = 180 =%
2 x

Give reasons to support your answer.

ZEDF + /€FD= 180-xX becoune o atonake angles are equal.

anglen n o hicu\ab. sum to C >—D
I80°, D F N 150 -t becawn orglen o A
F Siroughk We Sum fo (30°
LEDF = LEFD ‘pecauwne ‘bone @y G : . |
ore equal a9 N an Soscelen \‘V\Qlﬁlp_ \_ )

LEDF = (30 -X b) Show that angle FYD = 180 - ¢.
%

Give reasons to support your answer.
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o A triangle has interior angles a, b and c. Q 0 QPR is an isosceles triangle. Q O
90 - x

PS is perpendicular to QR.
Prove that PS bisects angle QPR.

b Give reasons to support each stage
of your workings.

LPSQ=LPSR=90° becoune PS is perperclicutor,

ko QR .
d
| | £QRP>A0-x becawe bane anglep in an Gocats
M‘Q are equak. :
Show that d = a + b. £.QPS = 180-(A0 +90-X) =X 'S o o 20°
Z RPS = \30"(“04"‘0-‘1'3 = (ll"\%\nb O.Iﬁﬂ.

Give reasons to support your answer.
(@+b)y < =180 ecoune angles 1t atnange Sumlo (50°
c + () = 180 \Decoune w\a\w) on o Sh'mg‘\t Line sumo 150 e Use rules of parallel lines to prove that the sum of the angles in Q

a triangle is 180°.

<QPS=LRPS -, PS5 bisects ange QPR.

atb=d
N
7/
o KLM is a triangle. Q
D 2= lso-(‘§°_+_3,)
2
= \30—‘\0—‘3%
- -1
= 0-3q9 N

becaune angus on o Srov gk
ke swm o \80°

OtDC 2 (80 becoum anges 0N O Sbrwiﬁ\i e sum b (30°.

O & =0 becawe oMenake ongen ore equad.

Prove that triangle KLM is an isosceles triangle. @ e = c be Lkernade ON:—)\RD are. e%mi.
Give reasons to support each stage of your workings.
@4L\<M=|3o-(q,+qo-§$) ZLKM = LMK btd+e = bratc ~a+otc =30°
= 180 - 90 --‘5':\, SO KM 15 an anjwa N a h\'ou\gkl Sum to (80°
= 90 - "i q 1SoSColed ""‘W\S\Q- Compare your method with a partner’s. O

becaure. onges N @ biangle
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